eeteasd

ZoBE D EIIBEERALRBRNTL SN,

v i 4

% MROE M K kol £ . 2 :
_ 210 _
R - EER) 5~ [ 580

| | 1

(1) Go= 25¢m-D(-3)=~3n+Z& .. ()

Qozax2" 122" UB)

) L, w tmka5 PR -omus, RN o BESgA 0T
] :

- o
ZY.‘QQ =}_‘5n {_254» (-‘im-,z&-)i( = .'E,LM (”5}1'#‘53) . UB)
2|

{5) /é‘@ 5 Ap3 2. Ak 2, SBR n,,\)g,gmgm%%wwﬂ
3 " Z(J-il) _ W _ z;;“t!
Lhe= 7 <222 5 )

(8) {Coh o PERBP) 5 durbat BT

n22aZ v
s C/’r{?‘ (%*’64)

= Tt z‘(n-.>§—szw+sa‘r ¢ (2%2)

g Taozne V)

( < nA ABERET)




F IS W 0 T N S O D A o

COBED EIRREETBALBRNTLIES N,

w % mOE RO

(EEHR - B

@ RS R VE IR & Bffﬁ”’"ﬂ’*"“‘“g%

TRING. B FEEE _L c | -+ () 6553,

G *C\ haa'l

@ YR L7 0 HeNES .
Gy A Ap'Gy. G QABBRYG(, B BT GEITIR TN e
i) "% Aro. B% LUE Feg A8 TRyRL. 4 BYY Hiaim

BRTN3 TEA
(1) 0 3Bhg Bfgeg. — - *%" :O

SRR DY = S e ST N
T e

() Y550 LM) 034 G Bnl=RER CH B0 S
A3 PREN 32 _% v () 03,

@) WG CRIFELT
A 0 GEO @ E4 LIBHEPRE S A
A0 G o) (A% D 34@.l W3 RES - 3 '@&3&

NG TRALE fﬂ ¥ ﬁ“Ezlr}Ug;(ga) 1

4§C)
AOBTTUENE 20 _ L
Ad) GE w}dDﬁkﬂ*q& q i
o
W3 B ZE )
Bl L3 3 33,0k
8,)‘.—’_'?"" [Lb)(l +t [H)X L\“: _mi’k(?'“)ﬁﬁso




S D Y0 0 N NN AR N WO W 0¥ b )

ZOBE D EITRBEETALRNTLES N,

B @& %F M K
(EZEE - EFERH

WA |3

!
m I= SoJ/—x’ dx &43,

— |
A=Sin0 th<e. —g;—= cos§ ;lg_gn
' 2
L34,
I }
I=) 756 - ws9do = | |cosg |- casdlo
.4 I ¥
_ (3 _ (7 220 g0 1 ey Lsinse |
= I )

2 2_ 92 . 2 2
@ b =1 +J -2 + + Jntn

h->00 J+2+ v~ + N
e A 1 ISR
e L n(nt)
v / n. B
= P

I LT 7%
n->00 2 ,_‘__rj‘_ n %//"(-})2

i
&N
S

< 2
—
?
R
No
QL
pY]

Il
o
PR
s
§
&
=

I
|~

9

Nr




...............

TOBID FICEMEETALBWTLSEE N,

% ®E A M
(E2EHR - R

3|-- @
[ﬂﬂ°’>0+2..2_ 3
| 2.0+ 2 N
(hhvar 237 ‘JEE 6 !l ﬁ')(
(3) Q1R L2
. __% p‘m) O |
(7(): %% a=1)vw@ &3
‘% [0<at< U @
Yrle®, 0@ spgine 2945 RS pe s,
(I ( . n — Y . -\;. -
> )/tg *eder d’%?b('ﬁ nyS (i M( Lo NRERA 19T w2
(. =4 v 7 |
7 )w’[%—(xé\ f i e %é’tﬁq.%q
Ao By othy oo Ao 7 Gy vER ‘
’] o Fai (') <\
] eyt n 1 () eBlfer- A
(ll)gﬁ(u[)Q m”’?}:&b\ (7;% N
f < ~© 7 HEF) 2 ol ca)
- NFEIES L -
a/_p — > 'l)') 0\ < I @ ) D_ \J
@;S) Ca(d (L()JB/” (g (L) | (2/11(1%) / @7/(/ [, Z) ”'(Jg)
Al =(19,03).023) _(311/11’») , (5,12,3) B

.,61’75 6 ccﬂ"dl m;\ {Q@C,b @ "“(Z RN

e(3,0,0.2) ’
(%4’!(52(;; ,{ ?75 2{[(2)}% 5




